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464/Phil UG/4th Sem/PHIL-H-CC-T-8/23
U.G. 4th Semester Examination - 2023
PHILOSOPHY
[HONOURS]
Course Code : PHIL-H-CC-T-8

_Full Marks : 60

Time : 21 ‘Hours.
The figures in the rzoht—hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 0 2x10=20

-GN Wil e Taw whe |
1) V_ What are the Laws of Thought? Give examples
i -%ﬁﬂﬁa—em?ﬁa‘ﬁ Suigge we |

3 ii). Is conversion by limitation of A propesition _

valid? Give arguments in favour of your

: answer : '
'AW%W%R&?W?{W{F@
e | 30 A |

i) Which statement form is found by negatlng a
4 tautologlcal statement form? Give argument

‘in favour of your answer.

a5 ooy TR @y 3@ @i W
memm?%“‘@a’aw’{r—mm
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iv)  Symbolize the following by using logical
notations of propositional functions and -
quantifiers: -
xRS ateibee e ga s ke
A i e o

Some horses are gentle only if they are well
trained. |

%@WWW“@ Wzﬁwﬁﬂ—w
2 |

v)  Distinguish between exclusive and non-
exclusive disjunction.
PRI @< SR wiar-g e 9112%?5 -

Vi) Reduce the followmg sentences into standard

form categorical proposition:

A thing cannot be both green and black at one
and the same time.

aﬁwa@mme wmic—vﬂtaml

vii) Construct the truth-tablé of the followmg
frferiefbe soriad wvai 5

[(p29)-~p]>(pq)
viii)* What is an analogical argument?

Tl Y 52
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IX)

eoked

X1)

} V4 P * ] . . . ~
What is Mill's formulation’ of the method of
agreement? |

1WE1-a9 9] ~afsq salt 6 e
“What is contingent statement form? Givé an
example. |

Wehes i ‘«N?bf?f JCE 2 GFI0 TWigF

_‘_1

e ;

‘ -~

What is meant by complementary class of a

given class?

W@%ﬁmmﬁm%mmv

xii) What do you undeistadc by 'sufficient

cUndltlon"? Gw an exam rﬂ

i “T—?IT @W? q—ﬁ?*‘w-aq TS |

/\Nhaf is Sc-ientl.fic explanation? Give an

£

XV)

A464/Phil

.

example.

T Gy T AE 2 9FI6 Srizde WS |

What is Truth function? -

AGJCFT <FICF A 2

Are two propositions necessarily
contradictory if one is true and the other is
false? Justify.

@mwaﬁwewmﬁmmmwﬁf
w3 fm 2@ ? IS FAREIel Ted i |
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74.

» Answer any four questions: | 5x4=20
- o1afb v Tl Hie

i)  Construct an argument showing the invalidity

- of O proposition.

O B SIS G G T 5107 F4 T O BT
TGS S ﬁﬂT‘TWI

ii) What is existential fallacy? Explam with an

example.

 AIfeFel (T I 0 2 SwiREe AW I |

. iii) " Determine, by using a truth-table,
whether the following is a logical
equ1va1ent ' |

A @%Wﬂwﬁﬁmmo

[Po@)]=[(pDq)or]
Use a truth table to determine the validity -

- (or 1nva11d1ty) of the followmg argument
form:

W%WWWWhmm
Hxel) e 759 ¢

PS(q2r)
. PDgq
) -



iv) D{press in Boolean notatlon and draw Venn

diagram (any two)
R fErfoics AT T R m%(‘mwﬁ(m |
(I riﬁ})

a) There is no mountain which is not

climbed by semeone.
O @ A R A I A GRIC! TE
b)- Whenever he felt homesick, he would go

“out for a Walk

HWMWWMCHW@W
"‘TC@CEI

‘ c_) My car always starts with difﬁculey.
Wm@mﬂaxamwﬁmmﬂx
‘/0/ What fallacy occurs m the following forms
of syllogism?
R T — mmﬁw R o Woa?
) AAA—2 i) OAO4 |
ﬁ State, after Copi, Mill's method of difference.

@ﬁquwﬁﬁﬁm%ﬁaﬂm
|
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FIAI ﬁﬁ A4 Tad "N o _ S
&l { the lullnwm” argumen
i)- - Test lh«, validity o ol
by using Venn diagram : IRu WM
(ealbrad AR I %m Yfaalad
j:; ° ‘No Alsanc \..‘v'.lill}-(?,S?‘ | incr‘imina-’;c .
themsclveq But some WIinesses
incriminate themsulvcs SO Is'ome :
witnesses are insane.
-' W?@Wﬂﬁ e eI TG
A I | e @ﬂammﬁrforﬂwa
=il WT?J‘T @I I AR 2 ST
irf%’t@m |
b)" No one plesent is out of work. No
members are absent. Ther efore, all
members are employed. , 4
%."ﬂ’?w.@r@;ﬁﬁqw'/ I
W‘*’fﬁpﬁ?{ﬂ |ﬁQWW®WWI -
A1) Construct formal proof of va11d1ty for each of
. .the following ar guments 545
e Iieshn e s oI 0 2
a) (F2G).(HDI)
| FVH
(F2~1).(H>~G)
| "G =~
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b) If anything is expensive, it is both
valuable and rare. Whatever is valuable
is both desirable and expensive.
Thercfore, if anything is either
expensive or valuable then it must be

expensive and valuable.
@I f&fAT 7S 2R O TERE 8 gES |l
Ry RO @A @ Wi ([ 7

(It Tt i w1241 e ToaE 3| |
- iii) - Prove the invalidity of the following
arguments by assigning truth values :  5+5
OTIE] ST vfm“— a1l fesre zzr—@ﬁﬂ
AW@ g FIS :
a) MD (N V.O)
ND(PVQ)
QDR
~(RVP)

S~M
b) Horses and cows are mammals. Some.
animals are mammals. Some animals arc

o g o
not mammals. Therefore, all horses are

ammals

Cﬂm a3 (ol wvﬁ &7, @i 2l
BN, mmmﬁiwv{ﬁaﬂlm

R @R 21 |
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©1v) Calculate the probability of the following
events : ‘ 545
Sewa THAIlR TET©! et T
a) If three cards are drawh from a pack of
52, what is the probability of not getting
- ‘any ace for three successive draws?
a3 o @QWWWCW’)@?@
omald Ot e e o’ (G 7 R8N
| TGyl T ? .
b)  What s the probability of getting at least
one 5 from the toss of two dice?

 S[rerd qoeE A9 A R uie e e
QI A6 2T AGITS! FS ?




